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Test Yourself  Chapter 12 Area, volume and capacity

All Multiple Choice

1 The most appropriate units to measure
the area of a classroom would be:

A km?
B  ha
¢ m?
D om?®
2 —
The area of the above shape, in which
each square has an area of 1 cm”, is;
A liem”
B 15 cm?
¢ 17cm”
D 19cm?
3

Name:
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The perimeter of the above shepe, in
which each square has an area of
1 em”, Is:

A 30cm
B 36cm
C  37em
D 40cm

The area of the rectangle shown
above, in which each square has an
area of 1 ey, is:

A 10cm®
B 16em®
C  18em’
D 24em®
n»
»**

The area of the rectangle ghove is:
A 628m’

B 125.6m’
C 8$736m?
D 12980m®

The perimeter of the rectangle in
question 7 is:

The most accurate estimate for the

ares of the shaded shape is:
A Bem®

B 20cem’

C  12em’

D 16em’

The area of the shaded shape above is:
A 13em?

B 1435cm’
C 17 em?
D 175cm’

A 62.8m
B 8.6m
C  984m
D 1256m
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108 mm
[T
46 mm
e
58
23 iy
124 mm
89 mm
[
42 mm
The area of the above shape is:
A 3780 mm’
B 6734mn’
C 7518 mm?
D 7978 mm?
28.4m
12.6m
200m [421m

The Tudor farmily warnt to pave the
area around their new swimming pool,
as shown above. The area that they
will need to pave is:

A 2096 m?

B 876.32 m*
C 92222m?
D 119564 m?

If the Tudor family wished to put a
border around their new paving in
question 16, the length that this would
need to be is:

A 14Im
B 984m
C 75m
D 4592 m
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13

14

15

Wallpaper sheets are 2.2 m wide and
6.5 m long. How many sheets would
be needed to cover a wall which hes an
area of 42 m*?

A 1
B 3
cC 6
D 10

31 000 000 m” is equal to:
A 31000 cm®
B 0.00031 km®

¢ 031km’
D 31km®
45 km
3070 m
The area of the triangle above is:
A 69075m°
B 138.15m®
C  69.075 ki’

D 138.15 k?

0m

[T
[

Tm

38m

The area of the shape above is:
A 75m?

B 210m?
C  238m
D 266m°
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The volume of a removalisis box
which is 2 m wide, 3.4 m high and
2.6 m long is:

A 8

B 94m’

Cc 153
D 1768 m’

The volume of the rectangular prism
above, in which each cube has a
volume of 1 cm’, is:

oW
w
=
o
SDJ

The volume of the salid shape above,
in which each cube has a volume of

1em?, is:

A S8om’
B Gdem®
C  66om’
D 76emd
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The chocelate mud cake shown above
is in the shape of a rectangular prism
and is to be divided amongst

40 people. The amount of cake that
each person will receive is:

A Gdem’
B 75 cm’®
C 100 cm®
D 112em’

The velume of the prism above, in
which each cube has a volume of

1 cml, is:

A 36’
B 4o’
C  50cem’
D S5em’

Area=46.8 cm®

The volume of the prism above is

A 1684.8 mm®
B 16 848 mn’®
¢ 168.48 cm®

D 16848 cm®
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The volume of the prism showm above
is:

A 160000
B 42000m*
C  48000m®
D 50000m®

23 56000 mL is equal to:

A (0S6L
B 0561
C 56L
D sSeL

24 Seven one-litre bottles of lenonade
are to be used to fill a number of
350-mL glasses, The number of full
glasses obtained would be;

A 20
B 22
c 25
D 26
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Test Yourself Chapter 12 Area, volume and capacity

All Multiple Choice

1 The most appropriate units to measure C
the ares of a classroom would be:

A lm?
B ha
C m?
D om?
2 ] C

—

The area of the above shape, in which
each square has an area of 1 cm?, is:

A lden?
B 15 em®
¢ 17cm®
D 19cn’®

The area of the shaded shape above is:

A 13em?
B 145em?
C 17 cm?®

D 175em®

Name:

The perimeter of the above shape, in
which each square has an area of
1 e, is; :

A 30cm
B 36cm
C  37em
D 40cm

The most accurate estimate for the

area of the shaded shape is:
A Bom

B 10cm?

¢ 12em’

D 16em’
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6

The area of the rectangle shown
sbove, in which each square has an
areaof 1 cn12, is:

A 10 em?
B l6em®
C  18em?
D 24cm®
0ne
s>

The area of the rectangle above is:
A 68m

B 12560
C - 873.6m® ,
D_ 12980m*>

The perimeter of the rectangle in

question 7 is:
A 828m
B 836m
C 9%84m
D 1256m

D
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108 mm D

[T

124 mm

42 mm

The area of the above shape is:
A 3780 mm>
B 6734 mm®
¢ 7518 mm?
D 7978 mm?

284m C

12.6m
[

21Nm | 421 m

[1 1

The Tud-or"family want to pavé the
area around their new swimming pool,
as shown above. The area that they

~will need to pave is;

A 209.6 m?

B 876.32m
C  92222m?
D 1195.64 m*

If the Tudor family wished to put a A
border around their new paving in

question 10, the length that this would
need to be is;

A 14lm
B 934m
C 705m
D 4592m
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Wallpaper sheets are 2.2 m wide and
6.5 m long. How many sheets would
be needed to cover a wall which has an
area of 42 m*?

A1
B 3
c 6
D 10

31000 000' m* is equal to:
A 31000 em?
B 0.00031 km?®
€ 031 kot
D 3kt
45km
3070 m

The atea of the triangle above is:
A 69075’

B 13815m”
C  69.075 km?
D 138,15 km?
30m
]
7 m
-
38Bm

The area of the shape sbove is:
A 75m’

B 210m’
¢ 238m*
D 266m?

B
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The volume of a removalists box
which is 2 m wide, 3.4 m high and
2.6 m long is:

A 8m

B 94m’
c 153’
D 17.68m’

The volume of the rectangular prism
above, in which each cube has a
volume of 1 e, is:

w

A 36cm
B 3%cm’
C 40 cm’
D 42’

The volume of the solid shape above,
in which each cube has a volume of
1 em’, is:

A 58cm’
B 6o’
C  66om’
D 76 om’
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The chocolate mud cake shown above
is in the shape of a rectangular prism
and is to be divided amongst

40 people. The amount of cake that
each person will receive is:

A Bhem®
B 75cm’
C 100 ew’
D 112 em’

The volume df the prism above, in
which each cube has a volume of
1 em?, is:

A 36cm’
"B 42cm®
C  S0em’
D 355 em’®

Area= 46,8 cm?

The volume of the prism above is:

A 1684.8 mm®
B 16848 mm’
¢ 16848 e’

D 16 848 em®

D
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30m
O
The volume of the prism shown above
is:
A 16000 m®
B 42000m’
C 48000m’
D 50000m
56 000 mL is equal to:
A 0056L
B 0,56 L.
C 356L
D 56L
Seven one-litre boitles of lemonade
are to be used to fill a number of
350-ml., glasses. The number of full
- glasses obtained would be:
A 20
B 22
C 25
—-D. .26



